Name : Chapter Based Worksheet
Chapter : Polynomials

Grade : CBSE Grade IX

EduSahara™ Worksheet License : Non Commercial Use

1. (36x*)3 2 +108x* )32 +540x3)23) +6x%yz=
() (18x2)32+6x2)272+90xy22) (ii) (6x3)372+18x%)22+90xy72) (iii) (6x2)222+18x2)22+90xyz?)
(iv) (6x2)222+18x)32+90xyZ2) (v) (6x3)*Z22+18x2)22+90xy22)

2. The coefficient of term e92 in polynomial(—5e3f3—e3fzgz—3ezg—5ef292+3eg3+4eg2+9fg) is
() 1 (i) 3 (i) 5 (iv) 7 (v) 4

3. Which of the following algebraic expressions is a constant polynomial?

(i) (=5x*=9x2—6x) (i) (=9x2+9x) (iii) (=2x*+2x3+6x2+4x—6) (iv) (=6) (v) (—4x)
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4. The value of90-3 ><89-4is

(i) 8092 (ii) 8091 (iii) 8095 (iv) 8093 (v) 8090

5. The value of the ponnomiaI(8g4—8g3—2g2+4g—7) at g=(-5)is

(i) 5923 (ii) 5921 (iii) 5924 (iv) 5922 (v) 5926

6. Factorize(x2+16x+63)

() (x+9) (x+7) (i) (x=9)(x+7) (i) (x+9)(x=7) (V) (x=9)(x=7)

7. Factorize (24xy+15y2)

(i) 3y(8x=5y) (ii) 3y(8x+5y) (i) 3x(8x+5y) (iv) 3y(—8x=5y) (V) 3x(8x=5y)

8. The degree of polynomial(9u2 =902 vw? +402 vw+4 0 w+6 vw) is

(i) 3 (ii) 6 (iii) 5 (iv) 4 (v) 7

9. The expanded form of (x+1) (x—1) (x+2) (x+6)is

() Bx*+8x3+11x2—-8x—12) (i) (8x3+11x%—8x—12) (i) (x*+8x3+11x%2—-8x—12)

(iv) (=2x*+8x3+11x2-8x—12) (v) (2x*+8x3+11x2—-8x—12)
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10. (-=5a-5b)
(i) (—=125a3—-375a2b-375ab%—-125b3) (ii) (—125a3—378a2b—375ab%—125b3)
(ili) (—126a3—375a2bh—-375ab%—125b63) (iv) (-125a3-373a%b—375ab%—125b3)

(V) (—124a3-375a2b-375ab%—125b3)
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Which of the following algebraic expressions is a constant polynomial?

(i) (=9 +4c*-9c3+8c2+4¢) (i) (7A+6C2+4c—6) (i) (=7c=3) (iv) (=9) (v) (6c2=5c—7)
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(a+b)

(i) (a2+b%) (i) (a%+5ab+b2) (i) (2a2+2ab+b?) (iv) (2ab+b?) (v) (a2+2ab+b?)
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(a—»b)

(i) (=2ab+b2) (i) (2a2-2ab+b2%) (i) (a2—=2ab+b?%) (iv) (a2+b2%) (v) (a2—4ab+b?)

Which of the following are polynomials?

(i) {a,b} (i) {b,c} (i) {d,c,b} (iv) {d,c} (v) {e,ab}

Givenf(g)=(39*+3g3+39%-5¢g+8) ,find £(2)

(i) 81 (ii) 84 (iii) 83 (iv) 79 (v) 82

Which of the following algebraic expressions is a constant polynomial?

(i) (—=6m30-7n%0p3+20p2%) (i) (20+p3) (i) (3n303p3+3n3p2+8n03+4p) (iv) (-9n03p3) (v) 2

Factorize (a—b)> + (b—0)> + (c—a)°>

(i) 3(a+b)(b—c)(c—a) (i) 3(a=b)(b—c)(c+a) (i) 3(a—b)(b—c)(c—a) (iv) 3(a—-b)(b+c)(c+a)

(v) 3(a=—b)(b+c)(c—a)

The degree of the polynomial(—3u3+4u2 +7u)is

(i) 5 (i) 1 (iii) 3 (iv) 2 (v) 4

Given f(r)=(53+92+9r) ,find f((-1))

(i) -6 (i) -2 (i) -5 (iv) -4 (v) -8

Factorize (80 x3 +220x2y+190xy2 +50)°)

(i) (5x+5y) (4x+5y) (4x+2y) (i) (5x+5y) (4x=5y)(4x=2y) (iii) (5x+5y) (4x+5y) (4x=2Y)

(iv) (5x=5y) (4x+5y)(4x=2y) (V) (5x=5y)(4x+5y) (4x+2y)
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The expanded form of (3x+1) (3x—=7) (2x—1)is

(i) (18x3—45x2+4x+7) (i) (17x3—45x%2+4x+7) (i) (19x3—45x2+4x+7) (iv) (15x3—45x%2+4x+7)

(v) (21x3—45x%+4x+7)

Factorize (20x2 +5xy— 15y2 )

(i) (5x=5y)(4x+3y) (i) (5x+5y)(5x+5y) (iii) (5x+5y) (4x+3y) (V) (5x+5y)(4x—-3y)

(V) (5x=5y) (4x=3y)

The value of 35 X35 is
(i) 1223 (ii) 1225 (iii)) 1226 (iv) 1228 (v) 1224

(12x3y4+4x2y3) +2xy2 =

() (6x2)2+2xy22) (ii) (6x3)3+2xy) (iil) (6x2)2+2)2) (iv) (6x3y%+2xy) (V) (6x2)2+2xy)

Which of the following algebraic expressions is a trinomial?

(i) (=33w2 =73 w+2uvlw—6uw?) (i) (33vw+uvdw?) (i) (=943 vV3w)

(iv) (u2V3W2+6UVW+4U+9VW3) (v) (—3u2vw—5u2W2—6uvw3)



Assignment Key

1) (iii) 2) (v) 3) (iv) 4) (i) 5) (i) 6) (i)
7) (ii) 8) (iii) 9) (iii) 10) (i) 11) (iv) 12) (v)
13) (iii) 14) (ii) 15) (v) 16) (v) 17) (iii) 18) (iii)
19) (iii) 20) (i) 21) (i) 22) (iv) 23) (ii) 24) (v)
25) (v)
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